= == e gE g =
F/NEEEFEDOENERIEE HERQ
1. #3FH%
ARG I=x A= - /E LviLT)
I 36 118 4
LEDSB, 0 0 1
BEB~DRE M
2. EHRIRY (£ - BEOKREWVWLDOTIEHEE)
HEL 218 AR BMLERETRE TS (M)
_ b e OO BHTE
al ﬁ@] OOn% I$ *E%ER%A*L 7}(&%1 (L:200m) 1, 234, 000
1 EFkER TE hEE 2% %g%ﬁwﬁmﬂ%ﬁ 46, 200, 000
S . ER—= - T
2 E T= — AR AKL $:._g,§%ilt$9$$§ 40, 920, 000
3 B I% —BHEAML |5 BT rEanb e 34, 650, 000
£HA 00 BE - B — iR AL g;%_fémﬁﬁ%"ﬁ“ 1,234,000
1 wEBHSE BE - B R 24 ;*g%% ¥ 5 —HEER 314, 820, 000
2 BERESR IS B B 2240 ﬁg;g%EQIEQ 108, 900, 000
_ WEEE - AOEYC3 Y -
3 BRI ER A= - &/ M= 524 BEMEE - BBt 19,910, 000
HEREREEE
P 00E W —EEEAL  |OOKR 42— B2AR) it 1,234,000
1 BTRAER me — R AKL giﬂ%ﬁ SHEOE 5. 947, 260
2 EEFEER & M= 225 REE—MREEA 5, 850, 000
3 HEtE me — el |HRMSORE. BE 4, 565, 000




